MNA205 Integral Caleulns e Introduction to Difforentia] Eaguations

Mechianics Based Problems |

LA particle is moved along the r-axis by o foree that measnires — L

pouuds af o point 1 foet frong the origin.

IREA

Find the work done i woving the particle from the arfein to a distanee of O f4,

20 When a particie is located at o distonce uwreters from |

How wmuch work is done in mwoving the

work dove from 2 =1 (0 v = 1.5 and fromm o = 1.5 to g =

e origin, o force of cus{mi/3) Newtous acts oy it
particle from r = | to » = 27 Interpret, vour answer By constdering the

2
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utrodnetion to Differential Eqgnations

{th!vm Solving Pf'ohlr.-'uls]
L 4

1. The table helow shows the values of » foree funetion Sy where o s weasnred iy wmeters awd flr) s measured
i Newtons, Use the Midpoint rule to estimate the work done by the foree iy moving an object from o = 4 1o

o= 37

e (4T ;x[mgu[u‘m(is“z@
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2. A uniform cable hanging over the edge of a tall butlding is 40 £ |

ong and weighs 60 Ihs. How mueh work is
reguitred to pull 10 f of the cable to the top?
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MA205 Tutegral Calenlus and Introduction to Differential Equations
S A cable that weighs 2 15/F s used to lift

800 Ihs of coal up a mine shaft 500 & deep. Find the work doje,

40 A chain lvinz on the sround is 10
of the chinin to o height of ¢ 17

m ooy and its mnass is 80 kg, How mmch

~work is required 1o raise one end
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